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Significance Tests: 2-Sample Proportions
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State the significance level: a =

PLAN:

Random: The data must come from two independent random samples or from two groups in
a randomized experiment.

10% Condition: N < 10% of the population
N2 < 10% of the population

Large Counts: The distribution of p; — p3 is approximately Normal if...
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State the fest you are using: We will be using a 2-sample z-test for the difference between two
proportions p1 - p2
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CONCLUDE:
Because our P-value = ____is greater/less than the significance level a = ___, we [fail to/reject] Ho.

There is [not] convincing evidence that (alternative hypothesis).



A Test for the Differences Between Two Proportions Pooled Samples:
- Combining the counts to get an overall proportion.
- Whenever we have data from different sources or different groups but we believe that they
really came from the same underlying population, we pool them to get better estimates.
- We always use pooled values when doing significance fests, but not for confidence intervals.
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Example 1:

Cne concern of a study on teen’s online profiles was safety and privacy. In a random sample, only
19% (62 girls) of 325 teen girls with profiles say that they are easy to find, while 28% (75 boys) of the 268
boys with profiles say the same. Are these results significant enough to show that girls were less likely
than boys to say that they are easy to find online from their profiles.
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Example 2:

Of a random sample of 995 people, 37% of adults reported that they snored af least a few nights a
week during the past year. ar. Would you expecT that percentage o be the same for all age groups?
Split into two age categories, 26% of the 184 people under 30 snored, compared with 39% of the 811
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